S2 Examples for language complexity

Example 1 is one of the simpler sentences from the student essay from our dataset which can be found in supplemental material
S1. This sentence has zero clauses and its maximum dependency tree depth is three. The sentence in Example 2 from the same
student essay is significantly longer with four clauses and a maximum dependency tree depth of nine.

1. The greater our goal is, the more competition we need.

2. Take Olympic games which is a form of competition for instance, it is hard to imagine how an athlete could win the game
without the training of his or her coach, and the help of other professional staffs such as the people who take care of his
diet, and those who are in charge of the medical care.
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